Matematika gyakorlatok, 5. osztaly

Osztas

Szamitsd ki:

1). 36081 : 57 =

2). 29754 : 54 =

3). 18820 : 20 =

4. 81383:97 =

5). 38646 : 57 =

6). 27807 : 39 =

7). 38994 : 67 =

8). 67920 : 80 =

9). 41667 : 51 =

10). 46360 : 76 =
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Matematika gyakorlatok, 5. osztaly

Osztas

Eredmények:

1). 36081 : 57 = 633

2). 29754 : 54 = 551

3). 18820 : 20 = 941

4). 81383 : 97 = 839

5). 38646 : 57 = 678

6). 27807 : 39 = 713

7). 38994 : 67 = 582

8). 67920 : 80 = 849

9). 41667 : 51 = 817

10). 46360 : 76 = 610
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